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1 : (1) 16 2019 ↑

16(2) .... 3

161 ... 14

0 .... T

(2019)p = (TE3)H

(2) (111) 1010 1011) = (7653)8

13) - 4096 = - 21

2's complement = 1000000000000

at least 13 bit is needed.

2 . (1) (111)2 = 15
.

121 8 bit

131 for FX , Y ,
2 = [0 , 15]

=> xy + z = [0 . 230] 22328

thus we need 8 bit to store the result



(1) instruction cache miss :

N . 29 · 50 = N

data cache miss :

N . 389 - 89 · 50= N = 1 .52N

the extra number of clock cycles is 2 .52N

(2) Total clock = 2N + 2 .52N = 4.52N

when there is no cache miss
: 2N = 100

,
N =50

thus the CPU time is 226

13) clock frequency is 4
times bigger than before,

because the real CPU
cachemiss penalty remains ,

the corresponding number of clock cycle is 50x4=200 .

=>

CpUtime
= 2 .52N +- = 151

14) If the frequency of CPU
increases ,

the

CPU performance will increase relatively slowlydue

to the real cache miss penalty remains the
same


